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BEARRE SHSEEILNINZE S BEREEREE MR

% L] A - BARSTiE BfL % B B ® # m o=
B 17,780, 999
BERERFEEMER 17,780, 999
EEEY B 16, 890, 026
EY B 10,923, 126
BERRERE 4,239, 837
1 BERERRE (1XBLY) 1.00 1, 380, 400. 00 1, 380, 400
E ]
2 BEBEMRE (B30mZEEZ 5154) L=0. 56km 1.00 2,859, 437.00 2,859, 437
=
FEERE 4,088, 868
KB EES R REE 3 D)) 1.00 1,034, 750. 00 1,034, 750
e
4 FEIREMRET L=0. 74km 1.00 3,054,118.00 3,054,118
=
FERWERG 2,594, 421
5 FERUBRRMH (1EHBHY) 1.00 557, 150. 00 557,150
E ]
6 FEBBBREMERE WA —/—L L=0. 21km 1.00 2,037,271.00 2,037,271
1) -
MERE 5, 632, 300
MREERE 5, 632, 300
1T ERIREEE 1.00 644, 900. 00 644,900
=
8 MRITEMHORE 1.00 1,983, 600. 00 1,983, 600
=
9 MEXORE 4.00 750, 950. 00 3,003, 800
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BEARE SHSEEIAMEEEERIERHERMERET

HaEWE 334, 600
& - wE 334, 600
10 EFIEE 1.00 90, 800. 00 90, 800

=
11 3RS 1.00 90, 800. 00 90, 800

=
12 R#RE|E 1.00 153, 000. 00 153, 000

=
EERE 890, 973
EERE 890, 973
EHARE 159, 860
13 EHXARE 1.00 159, 860. 00 159, 860

=
BEM 689,113
14 ¥R REER 1.00 689, 113. 00 689, 113

=
EIRERE 42,000
15 BIAEE E-RYLUTRE 11 1.00 42, 000. 00 42,000

=




WIER BHSEEILNMER B ERERFEREHRE

% g - AKSTiE Bifr B 2 B i & 8 W =
BRI 16,890,026 + 890, 973 17,780, 999
EEAGE 16, 890, 026
BE#ERE 890, 973
T DR 16,890,026 x 53.85% ( 35% + (1 — 35%) ) 9,095, 279
BRI 17,780,999 + 9,095,279 26,876, 278
—REEES 26,876,278 x 53.85% ( 35% + (1 — 35%) ) — 9,153 14,463,722
KBS 26,876,278 + 14,463,722 41, 340, 000
HETR SR L 41,340,000 x 10.00% 4,134,000
RHEEH 41,340,000 + 4,134,000 45, 474,000
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H#5 1
£F  BERERRA(1FEEHY) IEZ:ED
2 b g - BIRTE L= vd = B ® W = " =
FEHER
A 3.000 62, 200. 00 186, 600
FEHER BE
A 1.000 62, 200. 00 62, 200
AR (A)
A 6. 000 55, 200. 00 331, 200
HEm (A) BE
A 1.000 55, 200. 00 55,200
HEm (B)
A 12. 000 45, 300. 00 543, 600
AR (C)
A 3.000 35, 600. 00 106, 800
g
A 3.000 31, 600. 00 94, 800
& Hi VEZERED ¢ 1. 0075 1, 380, 400. 00 1, 380, 400
T EE L
FHE—IEWHE Tl
&5 :2
B BEREMRE (IB30mEE X 5154) L=0.56km 14y
2 b g - BIRTE L= vd = B ® % W = " =
FEHER
A 3.980 62, 200. 00 247, 556
FEHER BE
A 0. 530 62, 200. 00 32, 966
AR (A)
A 10. 600 55, 200. 00 585, 120
HEm (A) BE
A 0. 530 55, 200. 00 29, 256
HEm (B)
A 15.110 45, 300. 00 684, 483
AR (C)
A 18. 550 35, 600. 00 660, 380
g
A 19.610 31, 600. 00 619, 676
& Hi 1E%HeH 1,00 2,859, 437.00 2,859, 437
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&5 :3
£F  FERERRIT(FEEZY) IEZ:ED
2 b g - BIRTE By H = B ® W = " =
FEHER
A 0. 500 62, 200. 00 31,100
FEHER BE
A 1.000 62, 200. 00 62, 200
AR (A)
A 6. 000 55, 200. 00 331, 200
HEm (A) BE
A 1.000 55, 200. 00 55,200
HEm (B)
A 8. 500 45, 300. 00 385, 050
AR (C)
A 3.000 35, 600. 00 106, 800
g
A 2.000 31, 600. 00 63, 200
& Hi VEZERED ¢ 1. 0075 1,034, 750. 00 1,034, 750
T EE L
FHE—IEWHE Tl
&5 : 4
B FEWEMERET L=0. 74km 1%y
2 b g - BIRTE By H = B ® W = " =
FEHER
A 3. 440 62, 200. 00 213, 968
FEHER BE
A 0. 860 62, 200. 00 53, 492
AR (A)
A 9. 460 55, 200. 00 522,192
HEm (A) BE
A 0. 860 55, 200. 00 47,472
HEm (B)
A 18. 060 45, 300. 00 818,118
AR (C)
A 20. 210 35, 600. 00 719, 476
g
A 21.500 31, 600. 00 679, 400
& Hi 1E%HeH 1,00 3,054, 118.00 3,054,118
T EE L
FHE—IEWHE Tl
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H#5:5
£ FERNBREMFRET 1FHKHY) IEZ:ED
2 b g - BIRTE L= vd = B ® # " =
FEHER
A 1.000 62, 200. 00 62, 200
FEHER BE
A 1.000 62, 200. 00 62, 200
AR (A)
A 3.000 55, 200. 00 165, 600
HEm (A) BE
A 1.000 55, 200. 00 55,200
HEm (B)
A 3. 500 45, 300. 00 158, 550
AR (C)
A 1.500 35, 600. 00 53, 400
& Hi VEZERED ¢ 1. 0075 557, 150. 00 557, 150
T EE L
FHE—IEWHE Tl
&S5 :6
£F . FERBBEBERET TIEIA —/N—L ) L=0.21km 14y
2 b g - BIRTE L= vd = B ® # " =
FEHER
A 2.530 62, 200. 00 157, 366
FEHER BE
A 0. 460 62, 200. 00 28,612
AR (A)
A 7. 360 55, 200. 00 406, 272
HEm (A) BE
A 0. 460 55, 200. 00 25,392
HEm (B)
A 11.730 45, 300. 00 531, 369
AR (C)
A 13.110 35, 600. 00 466, 716
g
A 13. 340 31, 600. 00 421, 544
& Hi 1E%HeH 1,00 2,037,271.00 2,037,271

FHIHERESMEE 2 L
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&5:17
£F5 . ERINEEE 14y
2 b g - BIRTE L= vd = B ® # " =
AR (A)
A 3.000 55, 200. 00 165, 600
HEm (B)
A 5. 000 45, 300. 00 226, 500
g
A 8.000 31, 600. 00 252, 800
& Hi 1E%HeH - 1.00K 644, 900. 00 644, 900
T EE L
FHE—IEWHE Tl
&5 :8
£ BIEHORE 14y
2 b g - BIRTE = v = B ® 5 # " =
FEHER
A 6. 000 62, 200. 00 373, 200
AR (A)
A 8. 000 55, 200. 00 441, 600
HEm (B)
A 8. 000 45, 300. 00 362, 400
AR (C)
A 12. 000 35, 600. 00 427, 200
g
A 12. 000 31, 600. 00 379, 200
& Hi 1E%HeH 1,00 1, 983, 600. 00 1,983, 600

FHIHERESMEE 2 L
FHE—IEWHE - BL
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5.9
2% MEHORE =24y
2 b g - BIRTE X = B ® # " =
FEHER
A 2.000 62, 200. 00 124, 400
AR (A)
A 3.000 55, 200. 00 165, 600
e (B)
A 3. 500 45, 300. 00 158, 550
AR (C)
A 4.500 35, 600. 00 160, 200
g
A 4.500 31, 600. 00 142, 200
& Hi YEZERED ¢ 1.007-2 750, 950. 00 750, 950
T EE L
FHE—IEWHE Tl
&5 :10
¥ BATHE HEED)
2 b g - BIRTE X = B ® # " =
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHER - 1.00[E 90, 800. 00 90, 800
T EE L
FHE—IEWHE Tl
&5 11
& PRERE HEED)
2 b g - BIRTE By = B ® 5 # " =
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHEH - 1.00[E 90, 800. 00 90, 800
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&5 12
2T EW|E HEED
2 b g - BIRTE BT H = B O %8 # " =
FERER
A 1.000 62, 200. 00 62, 200
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHEH - 1.00[E 153, 000. 00 153, 000
T EE L
FHE—REMHE : TL
&5 .13
&% EHARE 1LY
2 b g - BIRTE BT o = B Ol %8 # " =
EXRARE
= 1.000 159, 860. 00 159, 860
& Hi 1E%HeH 1,00 159, 860. 00 159, 860
FIEEEMIEE L
FHE—REWE : TL
&S 14
£ EHTERBEEER 1LY
2 b g - BIRTE BT o = B Ol %8 # " =
RIHEEN
= 1.000 689, 113. 00 689, 113
& Hi 1E%HeH 1,00 689, 113. 00 689, 113
T EE L
FHE—REWE : TL
&5 .15
W EIREE E-RUUIHEI1IE 1LY
2 b g - BIRTE BT o = B Ol %8 # " =
EIREE A ERE 1T
= 1.000 42,000. 00 42,000
& Hi 1E%HeH - 1.00K 42,000. 00 42,000

FEEMSNEE L
FHE—IEWHE Tl




